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Note : 
(i) All the four questions are compulsory. 
(ii) All questions carry equal weightage. 

1. Attempt any four of the following questions in 
about 150 words each : 
(a) Discuss any two institutions contributing to 

social change. 
(b) Discuss the causes of non-cooperation 

movement. 
(c) Explain briefly how industrialization affects 

social change. 
(d) Discuss United Nations as the highest 

institution for world peace and international 
understanding. 

(e) Describe the Cripps' mission. List the causes 
of its failure. 

(f) Discuss the factors that led to the growth of 
Indian Nationalism. 
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2. Attempt any four of the following questions : 

(a) The numerator of a rational number is 7 less 
than the denominator. If the denominator is 
increased by 9 and the numerator by 2, we 
get the same number. Find the number. 

(b) Explain the terms : Diameter, Chord, Sector 
and Segment with respect to a circle. 

(c) Construct a triangle ABC such that side 
AC = 5 cm, Z B = 60°, L C = 45°, where 
a= BC, b= CA and c = AB. 

(d) Three angles of a quadrilateral are equal 
and the fourth angle is 120°. What is the 
measure of its equal angles ? 

(e) Discuss the four criteria of congruence for 
triangles. 

(f) Mohan is twice as old as Ram. If 6 years are 
subtracted from Ram's age, then Mohan's 
age will be four times Ram's age. Find their 
present ages. 

3. Attempt any four of the following questions in 
about 150 words each. : 

(a) What is force ? Discuss different types of 
force. 

(b) Explain the terms : Energy, Soap and 
detergents, Fertilizers. 

(c) Describe any three processes used for 
separating components of a mixture. 
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(d) How is glass made ? Describe how colour is 
imparted to it and list some functions of 
glass. 

(e) What is a simple machine ? Describe any two 
simple machines in detail. 

(f) Describe how transformation of energy takes 
place. 

4. Attempt any four of the following questions in 
about 150 words : 

(a) Describe the need for protection of crops. 

(b) "Soil fertility is very important for a good 
crop production." Explain the statement. 

(c) What is an eclipse ? Describe a lunar eclipse 
with the help of a diagram. 

(d) Describe water cycle in nature with the help 
of a diagram. 

(e) Describe briefly the solar system. 

(f) Discuss factors affecting soil structure. 
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